A)

B)

4 SCENARIOS USING WHOLE FAMILY FORMULA ( COLUMN B OF ECONOMIC TABLE)

COMBINED NET MONTHLY INCOME OF $2600.00 ($1300/FATHER AND $1300/MOTHER OR
50/50 SPLIT)

-1 CHILD: $661.00, FATHER WOULD PAY $330.50 AND MOTHER WOULD PAY $330.50

-2 CHILD: $513.00, FATHER WOULD PAY $256.50 AND MOTHER WOULD PAY $256.50

-3 CHILD: $428.00, FATHER WOULD PAY $214.00 AND MOTHER WOULD PAY $214.00

-4 CHILD: $362.00, FATHER WOULD PAY $181.00 AND MOTHER WOULD PAY $181.00

-5 CHILD: $316.00, FATHER WOULD PAY $153.00 AND MOTHER WOULD PAY $153.00

NOTE: THE TRANSFER PAYMENT WOULD BE LIMITED BY THE SELF SUPPORT RESERVE WHICH IS
CURRENTLY $1134.00 PER MONTH. EITHER PARENT WOULD ONLY HAVE $166.00 AVAILABLE TO
SUPPORT THE CHILD(REN).

COMBINED NET MONTHLY INCOME OF $4000.00 ($2400/FATHER AND $1600/MOTHER OR
60/40 SPLIT)

-1 CHILD: $753.00, FATHER WOULD PAY $452.00 AND MOTHER WOULD PAY $301.00
-2 CHILD: $584.00, FATHER WOULD PAY $350.00 AND MOTHER WOULD PAY $234.00
-3 CHILD: $488.00, FATHER WOULD PAY $293.00 AND MOTHER WOULD PAY $195.00
-4 CHILD: $413.00, FATHER WOULD PAY $248.00 AND MOTHER WOULD PAY $165.00
-5 CHILD: $360.00, FATHER WOULD PAY $216.00 AND MOTHER WOULD PAY $144.00

Based on the above information, here are some examples of how the Whole Family Formula
would be used to calculate the transfer payment if father were the obligor parent:

CBC (children before the court) CNBC (children not before the court) Presumptive Calculation

1 0 452
1 1 350
1 3 248
2 2 496
3 2 648

NOTE: AFTER SUBTRACTING THE SELF SUPPORT RESERVE FROM MOTHER’S NET INCOME,
MOTHER HAS $466.00 AVAILABLE TO SUPPORT HER CHILDREN. MOTHER’S TRANSFER PAYMENT
MAY BE LIMITED BY THE SELF SUPPORT RESERVE.



Q)

COMBINED NET MONTHLY INCOME OF $7000.00 ($4900/FATHER AND $2100/MOTHER OR
70/30 SPLIT)

-1 CHILD: $1218.00, FATHER WOULD PAY $853.00 AND MOTHER WOULD PAY $365.00
- 2 CHILD: $946.00, FATHER WOULD PAY $662.00 AND MOTHER WOULD PAY $284.00
- 3 CHILD: $790.00, FATHER WOULD PAY $553.00 AND MOTHER WOULD PAY $237.00
- 4 CHILD: $668.00, FATHER WOULD PAY $468.00 AND MOTHER WOULD PAY $200.00
- 5 CHILD: $583.00, FATHER WOULD PAY $408.00 AND MOTHER WOULD PAY $175.00

Based on the above, here are some examples of how the Whole Family Formula would be used
to calculate the transfer payment if father were the obligor:

CBC CNBC Presumptive Calculation
1 0 853
1 1 662
1 3 468
2 2 936
3 2 1224

D) COMBINED NET MONTHLY INCOME OF $3000.00 ($1500/FATHER AND $1500/MOTHER OR
50/50 SPLIT)

- 1 CHILD: $693.00, FATHER WOULD PAY $346.50 AND MOTHER WOULD PAY $346.50
- 2 CHILD: $538.00, FATHER WOULD PAY $269.00 AND MOTHER WOULD PAY $269.00
- 3 CHILD: $449.00, FATHER WOULD PAY $224.50 AND MOTHER WOULD PAY $224.50
- 4 CHILD: $380.00, FATHER WOULD PAY $190.00 AND MOTHER WOULD PAY $190.00

- 5 CHILD: $331.00. FATHER WOULD PAY $165.50 AND MOTHER WOULD PAY $165.50



Based on the above, here are some examples of how the Whole Family Formula would be used
to calculate the transfer payment if mother were the obligor:

CBC CNBC Presumptive Calculation
1 0 347

1 1 269

1 3 190 (169*)

2 2 380 (338*)

3 2 497 (366**)

*45% LIMITATION FOR EACH PARENT = $675.00. AT THE 4 CHILD AMOUNT, EITHER PARENT’S
SUPPORT MAY BE LIMITED BY THE 45% LIMITATION AS THE 4 CHILD PRO RATA SHARE WOULD
BE $168.75 PER CHILD AND THE PRO RATA SHARE AT THE 5 CHILD AMOUNT WOULD BE $135.00
PER CHILD.

**SELF SUPPORT RESERVE LIMITATION FOR EACH PARENT = $366.00 (1500-1134).






